Best model for HELP J143104.755+350619.904 at z = 1.686 x2=0.72
OPTx2=0.54 IRy?=1.45 threshold (OPT IR)=21.49 [um]

2 g
10 Stellar attenuated
] L T Stellar unattenuated
1 _' . m —— Dust emission
10 . 0 —— AGN emission
] = Model spectrum
0 1 . ® Model fluxes
10 3 M oObserved fluxes
> 2no1 ]
=107 3
S E
% ]
51072 4
[T ]
1073 3
1074 5
a ]
=077 3
© 1 mfe= (Obs-Mod)/Obs
3 ]
S ]
s ]
] o e e e e e e ] e o e A e e e ]
o ]
) ]
2 ]
T -1 —  ciGate
]
[a'd

10! 102 103 104 10° A
Observed wavelength [um] .



